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QID : 1 - Each member of a club contributes as much rupees and as much paise as the number of members of the club. If the total contribution is Rs. 2525, then the
number of members of the club is

e Tora & Fofl TEHT, Tord & TEHAT BT GGAT S TA & T 3R TF &7 A0a & &1 A FoT AW 2525 TG & AT Hord & TEHAT T GGAT HAT @19t ?

Options:
1) 60

2) 45
3) 55

4) 50
Correct Answer: 50
Candidate Answer: 50

QID : 2 - The numerator of a fraction is multiple of two numbers. One of the numbers is greater than the other by 2. The greater number is smaller than the
denominator by 4. If the denominator 7+C (C > -7) is a constant, then the minimum value of the fraction is

e fATeT T 3727 T 37ePT T IOTST &1 T HWAT gAY § 2 36 a3 ¢ | T8 HEAT T H 4 37 BT & G W 7+4C (C > -7) F3d &, af e o1 AgeTeTet HelT a1 gm ?

Options:
1)5

2) 1/5
3)-5

4)-1/5
Correct Answer: -1/5
Candidate Answer: [ NOT ANSWERED ]

QID : 3 - A number when divided by the sum of 555 and 445 gives two times their difference as quotient and 30 as the remainder. The number is

afe fopelt E@aT &t 555 3R 445 & AT & AT [ham AT Y SHET HETRS FEATHT & 3 DT AUIAT ST & IAT AW 30 T§ ST & | 3T IE QAT HAT @il ?

Options:
1) 220030

2) 22030
3) 1220

4) 1250
Correct Answer: 220030
Candidate Answer: 220030

QID : 4 - When a number x is divided by a divisor it is seen that the divisor = 4 times the quotient = double the remainder. If the remainder is 80 then the value of x
is

Ife forelt e x ot fpelY Risrreres @ Rrenfora fham Sar & a Rersies = HaTthel &7 4 IO = AW &7 GILAT SiaT &1 TS AT 80 B &Y x BT A IABT ?

Options:
1) 6480

2) 9680
3) 8460

4) 4680
Correct Answer: 6480
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Candidate Answer: 6480

QID : 5 - On dividing a certain number by 342 we get 47 as remainder. If the same number is divided by 18, what will be the remainder ?

Y T Bt T 342 ¥ e foham ST aY A 47 faT 1 3G 36 S5 A1 18 ¥ FAHdd o e At Ay g gem ?

Options:
1) 15

2) 11
3) 17

4)13
Correct Answer: 11
Candidate Answer: 11

QID : 6 - The sum of three numbers is 252. If the first number is thrice the second and third number is two-third of the first, then the second number is

T T3 @ AT 252 ¥ A vt SEE, gud FEAr @ e § 3R s dwan, ueet g & a-faws € o qud @@ e et ?

Options:
1) 41

2)21
3) 42

4) 84
Correct Answer: 42
Candidate Answer: 42

QID : 7 - The sum of squares of three positive integers is 323. If the sum of squares of two numbers is twice the third, their product is

ToreT cfieT =7 quiient & aat 1 Sis 323 ¥ IS & HEA3T & 9t T 1S e FEAT A GIAT g, Y 3eTehT IUIAhS aAZT 2

Options:
1) 255

2) 260
3) 265

4) 270
Correct Answer: 255
Candidate Answer: [ NOT ANSWERED ]

QID : 8 - The sum of three numbers is 2, the 1st number is 1/2 times the 2nd number andthe 3rd number is 1/4 times the 2nd number. The 2nd number is

T T3 BT AT 2 ¥ Ugell AT @AEEAT &Y 1/2 7[on & 3R Nad dear qud dear ¥ 1/4 qon & | TR qE HEAT =1 @9h ?

Options:
1) 7/6

2)8/7
3)9/8

4) 10/9
Correct Answer: 8/7
Candidate Answer: 8/7

QID : 9 - Three numbers are in Arithmetic Progression (AP) whose sum is 30 and the product is 910. Then the greatest number in the AP is

& FEAT FHafOId Ao 7 § fera shs 30 & 3R qUEHe 910 ¥ AT IFHAOCT A0 F FIH 5 FEAT HiA-HT & ?

Options:
1) 17

2) 15
3) 13

4) 10
Correct Answer: 13
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Candidate Answer: [ NOT ANSWERED ]

QID: 10 -
Simplify :

B X i 3
\3/ 2197 \3/-125 3/ %
FafeafEa &1 ga e

,\3/_2197 & /\3/ 125 A3/ %

Options:
1) 492/7

2) 520/3
3) 554/7

4) 571/5
Correct Answer: 520/3
Candidate Answer: 520/3

QID : 11 - A canal of a village can be cleaned by 24 villagers in 12 days. The number of days in which 36 villagers can clean the canal is ?

R 9T Y T 24 TR gRT 12 e 3 ATH & 51 Aehd) 1 IABT 37 e B 36 AT fhdar 3T 7 6 Aot 2

Options:
1) 18

2)8
3) 72

4) 16
Correct Answer: 8
Candidate Answer: 8

QID: 12 - A and B can do a piece of work in 18 days, B and C in 24 days, A and C in 36 days. Working together they can do the work in

A 3R B forelT &1 T 18 &t 3 oY At & 31 B 3R C 3¥ T it &t 24 &t 3 X Aot & 2T A 3R C 38 36 G # o Iahd §1 IdST I A9 el a 30 H1a Pl fohdal
&t 3F it ?

Options:

1) 12 days

12 fea

2) 13 days

13 e

3) 16 days

o

4) 26 days

26 e

Correct Answer: 16 days
16 e

Candidate Answer: 16 days
16 &

QID : 13 - Ramesh and Rahman can do a work in 20 and 25 days respectively. After doing collectively 10 days of work, they leave the work due to illness and Suresh
completes rest of the work in 3 days. How many days Suresh alone can take to complete the whole work ?

T 3 TEATH ToRefT IeT Y ShaAT: 20 3R 25 T F X v &1 AT S 9 10 o T 1o AR & 3R 3% I1g I NAR U S & HRUT HIH OIS & &1 AW P
QA 3 & F QU AT & | TABT FA 31Bell 38 QU BHIA I febetet 8T 3 gy apiam ?

Options:
1) 32 days
32 fee

2) 28 days
28 e

3) 29 days
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29 fea
4) 30 days
30 &1

Correct Answer: 30 days

30 =

Candidate Answer: 30 days

30 fea
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QID : 14 - A can do as much work in 4 days as B can do in 5, and B can do as much work in 6 days as C in 7. In what time will C do a piece of work which A can do

ina week ?

A TSaaT w1 4 G & aRaT &, B I &1 5 G 3 o & 31 B it 1o 6 el F awear &, C ad 1 7 o 3 o1 1 ITST IS 1 S A Teh AUATE H T &, I6 C
hcter o & Ry amdam ?

Options:
1)

10 3 days

24
5
10 > f&
2)
4 % days
4
4 - f&a
3)

5 B

15
8
ﬁﬁﬁ:l

4)

days

12 6. days

19
6
1255 fe

Correct Answer:

10 3 days

24
5
10 o fea

Candidate Answer:

5

10 — days

24
5
10 o1 fea

QID : 15 - A can do a piece of work in 10 days and B can do it in 12 days. They work together for 3 days. Then B leaves and A alone continues. 2 days after that C

joins and the work is completed in 2 days more. In how many days can C do it, if he works alone ?

A PNE B 10 B & aRaT & 3R B AR B 12 R & aRar &1 3 21 T av 3 e o &1et ot & 3 91 B 1o B8 ST & 31T A 31helT Sl ol TodT 1 38 2 e
e C 1A U 37T ST & 31T 2 31 & 3 1 qur & ST &1 AfE C 30T 1 Y ol a8 i Bl fohctel feed 3 QT < olam ?

Options:
1) 30 days
30 et

2) 50 days
50 fea

3) 40 days
40 &

4) 60 days
60 f&eT

Correct Answer: 40 days

40 fea

Candidate Answer: 40 days

40 fea
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QID : 16 - The ratio of the amount of work done by (x-1) labours in (x+1) days and that done by (x+1) labours in (x+2) days is 5 : 6. Then the value of x is

(x-1) AP GRT (x+1) & 3 fFT 7T FRF a7 3 (x+1) SFHDP GRT (x+2) et 3 AT 71T HRY 1 31quTed 5 @ 6 &, AV x 1 AT JaAST ?

Options:
1) 16

2) 15
3) 17

4) 14
Correct Answer: 16
Candidate Answer: 16

QID : 17 - A book seller allowed 10% discount on printed price. He gets 30% commission from publisher. His profit in percent will be

Y e fashar 2 3ifhd HrAd W 10% & T &Yl 38 UHRiB & 30% HARE fFerar &1 3qar ot gfdera war g ?

Options:
1) 20

2)
a
28 -5

3)25

4)
26 %

Correct Answer:
28 %

Candidate Answer: 25

QID : 18 - A dealer is selling an article at a discount of 5% on the Marked price. If the Marked price is 12% above the cost price and the article was sold for Rs. 532
then the cost price is (in Rs.)

IS aohaT B aHg 3ifhd HIAT F 5% THeidT W ITdT &1 AT 3HRAd HHAd, 57T FeT F 12% HAE &1 3R a8 aHg 532 FH 901 715 & ol 38 TH A HT HAT (¥ H)
AT T ?

Options:
1) 500

2) 525
3) 505

4) 520
Correct Answer: 500
Candidate Answer: 500

QID : 19 - A shopkeeper increases the price of an object by 40% and then sells it at 25% discount on the marked price. If the selling price of such an object be Rs.
2100, its cost price for the shopkeeper was ?

IS GHIAER Tohel) aH &Y HIAT 40% T a1 & R R 38 3ifha e 1 25% 6 ge & A I=am &1 3 58 aHg &1 6T 7T 2100 & &1 Y TABT gehlelar & faw
0 qH T H HelT HIT AT ?

Options:
1) 3000

2) 1500
3) 1750

4) 2000

Correct Answer: 2000
Candidate Answer: 2000

QID: 20 -

http://thepracticetest.in/csdecjan17/res d&uﬁb\_’tj sl le(_) HG\/IEAﬂ&é}ibi‘d:[’f JBB0BRATH 107051 TTTI2d0eBegse et I n 5/26



112412017 Download More PaperstaffsesatiovcommisionovtJobsAlert.In

The marked price of an article is Rs. 5000. But due to a special
festive offer a certain percent of discount is declared. Mr. X availed
this opportunity and bought the article at reduced price. He then

sold it at Rs. 5000 and thereby made a profit of 1:‘|_L %.The
percentage of discount allowed was ? =

ot avg @1 siftrd B 5000 F §, fg e & RO B
fa=rd @ ge 9iftd & o 81 5 x 3T 3aR & ar I8
EU 34 a% &I BH 31 T8 $1Td W Wed &, dUYE a8 34 |
5000 & H a4 & & 3R 3uH 32 11%% P1 T B |

FARY 39 a&g W fore wfowrd ot ge & s off »
Options:
1) 10

2)
ol

4)
1
ey

Correct Answer: 10
Candidate Answer: 10

QID : 21 - Find the fraction which bears the same ratio to 1/27 that 3/7 does to 5/9 .

% fee < Y TorgeT 1/27 @ a8 AquId A S 3/7 1 5/9 7 & ?

Options:
1) 5/9

2) 1/35
3) 45/7

4) 7/45
Correct Answer: 1/35
Candidate Answer: 1/35

QID : 22 - The ratio of number of boys to the number of girls in a school of 432 pupils is 5 : 4. When some new boys and girls are admitted, the number of boys
increase by 12 and the ratio of the boys to girls changes to 7 : 6. The number of new girls admitted is

432 Tt arel v Hgel H o5 3R ASTHAT B FWAT H AU 5 : 4 §| 51T AHA H TS AT A5h-ASBAT QA o I & af aTse! df g@ar 12 3R 98 el § aan
D! BT ASTHAT A I TGl P 7.2 6 AT ¢ | TABT febcdelt T8 eTstnal & gridrer foran g ?

Options:
1) 12

2) 14
3) 24
4) 20

Correct Answer: 24
Candidate Answer: 24

QID : 23 - If the three numbers in the ratio 3:2:5 be such that the sum of the squares is equal to 1862 then which number is the middle one.

IfEg3:2: 5% Iegurd 3 ofieT FEATe Y & R 3eTeh aait 1 T 1862 &, A dr aTelt HEAT a1y ?

Options:
1) 16

2) 14

http://thepracticetest.in/csdecjan17/res d&uéb\_&j lﬂaﬁ&ﬁrhéipMQ H‘G]VIE/&[&WJ:I Jes0b2dvar0TI0sATTTd0eBseEe lert. In 6/26



1/24/2017 Download More PaperstifsesdioncommisionovtJobsAlert.In
3)13

4) 15
Correct Answer: 14
Candidate Answer: 14

QID : 24 - Two bottles contain acid and water in the ratio 2 : 3 and 1 : 2 respectively. These are mixed in the ratio 1 : 3. What is the ratio of acid and water in the
new mixture ?

o aicar # AT 2 : 3 3R 11 2 F HIUT H A 3R A 1 51 1 : 3 & 3guTd F THAT G2 S1m § | IAST AT 407 F 37 3R A o1 AT AU & ?
Options:
1) 7:13
2) 11:57
3) 23:37

4)1:3
Correct Answer: 7:13
Candidate Answer: 23:37

QID : 25 - The ratio of the number of boys and girls in a school is 3:2. If 20% of the boys and 25% of the girls are scholarship holders, the percentage of the school
students who are not scholarship holders is

e Hgpet # a5t AR TSRt & FEAT 7 3:2 & AU &1 I 20% w5t A 25% FSRAAT BT STgRT el 8 df Hgel & 3 [y & ufaed adBe e
BEgR A& fAedT & ?

Options:

1) 56

2)78

3) 70

4) 80
Correct Answer: 78
Candidate Answer: 78

QID : 26 - In two types of brass, the ratios of Copper to Zinc are 8:3 and 15:7 respectively. If the two types of brass be melted and mixed in the ratio 5:2 a new type
of brass is obtained. The ratio of Copper to Zinc in this new type of brass is

a1 e & idel 3 A1 3N ST T 31T shaAen: 8:3 3 15:7 ¥ IS At ¥ & el @ frerelm i 5:2 & 31guray A AfAa o faar smw aY wes Jv yehR &1 dide @<
ST &1 38 T GhR & QeTel # did 3R STH &1 HUTT AT ?

Options:
1) 3:2

2)2:3
3) 3:4

4)5:2
Correct Answer: 5:2
Candidate Answer: 5:2

QID : 27 - An hour-long test has 60 problems. If a student completes 30 problems in 25 minutes, then the required seconds he has taken on average for computing
each of the remaining problems is

el Tep ToTe ST TleT A 60 U B §1 AT S Rt 25 e 3 30 U X T & aF AW U 7 8 A B QU A # 3 38 fovder dpvs o wAqg
I ?

Options:

1) 70 seconds
70 QHUE

2) 50 seconds
50 ¥HUE

3) 40 seconds
40 QFHUTE

4) 30 seconds
30 ¥HUE
Correct Answer: 70 seconds
70 YHUTS
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Candidate Answer: 70 seconds
70 ¥HUTS

QID : 28 - A and B have their annual average income Rs. 80,000.
B and C have their annual average income Rs. 75,000.

C and A have their annual average income Rs. 78,000.

The annual income of A is ?

A 3R B & afffe 3ftaa 3mr 80,000 & &1
B 3iX C fr anfiies 3ita 3ma 75,000 & &
C 3R A &1 anfie 3iaa 3m3 78,000 F ¥
A & e 37T AT ?

Options:

1) Rs. 81000

81000 ®

2) Rs. 82000

82000 ®

3) Rs. 83000

83000 ®

4) Rs. 84000

84000 ®

Correct Answer: Rs. 83000

83000 ®

Candidate Answer: Rs. 83000

83000 &

QID : 29 - A car travels from A to B with 40 Km/h and returns from B to A with 60 Km/h. Its average speed during the whole journey is

PSR A A B T 40 6.FT./6. H IFAR & 1 Al & 3R BT A T 60 6.3Y./6. A IFAR § wiledh &1 Gagut amr F wR i 3iad IR aas ?

Options:

1) 48 km/h
48 fop.afr. /.
2) 50 km/h
50 fp.afY./E.
3) 45 km/h
45 5.3, /9.
4) 60 km/h
60 fop. . /g

Correct Answer: 48 km/h
48 fop. 3. /9.

Candidate Answer: 48 km/h
48 fop. 3. /9.

QID : 30 - In the first 10 overs of a cricket game, the run rate was only 3.2. The run rate in the remaining 40 overs to reach the target of 282 runs is

Tehehe o Tenell et 3 Ugel 10 3TeRT 3 WY 3.2 AT| AW 40 TR # HAT TH-YC G =1feT 6 282 T & waTF deh Ul i Heb ?

Options:
1)6.4

2)6.3
3)6.25

4)6.5

Correct Answer: 6.25
Candidate Answer: 6.25

QID : 31 - The average (arithmetic mean) amount of savings of ten students is Rs. 600. Three of the students have no savings at all and each of the others have at
least Rs. 250 including Nihar, who has exactly Rs. 1300. The largest amount, in Rs., that any one student could have is

&H OTE &7 gad A AT (0T ATGT) A 600 F &1 3 B1F W & AThr Pl aad A6 & 3R 377 ST # F UqAF O A F A 250 F Hr gad & AR R &
1300 & F1 g9 §| TAST Tad $H T T2 A (¥ ) HAT 8 Fevell © ?

Options:
1) 3250
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2) 3450

3) 3650

4) 3850
Correct Answer: 3450
Candidate Answer: 3250

QD: 32-
An Army of 12000 consists of Europeans and Indians. The average
height of a European is 5ft 10 inches and that of an Indian is 5ft 9

inches and that of the whole army is 5ft 9 3 inches. Then the
number of Indians in the army is ? 2

12000 FAH! B T H RIGA A R YR FaH g
WY FaH! BT 3T a5 BeE 10 39 & R HRA™
S HISRTT TS 5 BE 9 39 g oYl JEguf I1 Bl
I TS 5 e 9% 21 ¥ ¥ YR AR
W1 T T B 2

Options:
1) 3000
2) 4000
3) 5500

4) 2700
Correct Answer: 3000
Candidate Answer: 3000

QID : 33 - By what fraction selling price (S.P.) must be multiplied to get the cost price (C.P.) if the loss is 20% ?

afg afe 20% & at fasra @ & fone fa= & aom Ream Se 6 v o wa & a3 2
Options:

1) 4/5

2) 8/5

3)5/4

4) 6/5
Correct Answer: 5/4
Candidate Answer: 5/4

QID : 34 - A,B and C together start a business. Three times the investment of A equals four times the Investment of B and the Capital of B is twice that of C. The
ratio of share of each in the profit.

A, B 31X C v @ el X 15 SRIGR Y DB &1 A & gRT Foram aram fder a1 ofiet a1 B & der & R 97 & aXer § 3R B &7 git C &1 it dr aeper &1 T 3t
UqA% & RHH &1 HJUIT Id1ST ?

Options:

1) 8:3:6

2) 3:8:6

3) 3:6:8

4) 8:6:3
Correct Answer: 8:6:3
Candidate Answer: 8:6:3

QID : 35 - Ramesh sold a book at a loss of 30%. If he had sold it for Rs. 140 more, he would have made a profit of 40%. The cost price of the book is

THY F P THAD 30% Tl W I | I T8 38 140 T 317 WX I7am a1 36 40% 197 R GHAD T 56 He(T TaST ?

Options:
1) Rs. 280
280

2) Rs. 200
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200 %
3) Rs. 260
260 ®
4) Rs. 300
300 ®

Correct Answer: Rs. 200
200 &

Candidate Answer: Rs. 200
200 ®

QID : 36 - A shopkeeper purchased 510 eggs at the rate of Rs. 20 per dozen. 30 eggs were broken on the way. In order to make a gain of 20%, he must sell the

remaining eggs at the rate of

TRl geieTeR & 20 & Ufdl golet &Y T @ 510 3 @G| 30 3101 THA H ¢ 10| 38 AV U e X IX Il <nfRw fh 38 20% ooy & ?

Options:

1) Rs. 22.50 per dozen
22.50 & ufd goiet

2) Rs. 25.50 per dozen

25.50 ® ufd ot

3) Rs. 26 per dozen

26 & Ui gotet

4) Rs. 26.50 per dozen

26.50 ¥ ufd ot

Correct Answer: Rs. 25.50 per dozen

25.50 & ufd goit
Candidate Answer: [ NOT ANSWERED ]

QID: 37 -
A sells a watch to B and makes a loss of 12%. B makes a profit of
1
127 % by selling the watch to C. If A sells the watch to B at the

cost of which C purchased it, then the percentage of loss or profit
of A will be,

A, B B 12% 81 TR U 93t 9941 &1 8 T8I TSt c B 12—%
AHRIT AR TR A, saﬁmaﬁn&mﬁ%ﬂﬁr%m
DA R g1 ¢ A Gdl o dt A Bl gu /g1 &1 ufdErd Fard »

Options:

1) 1% loss

1% gfa

2) 1% profit

1% oITeT

3) 2% loss

2% &Iy

4) 2% profit

2% °ITH

Correct Answer: 1% loss
1% gfa

Candidate Answer: 1% loss

1% @Iy

QID : 38 - A man buys 3 type-I cakes and 6 type-II cakes for Rs. 900. He sells type-I cakes at a profit of 15% and type-II cakes at a loss of 10%. If his overall profit is

Rs.30, the cost price (in Rs.) of a type-I and of a type-II cakes is

¥ gafh T$u-1% 3 $eh AR ET-1 & 6 e 900 & ¥ @edT ¥ TE eTET-1 & dheh Y 15% o1 T 31 21$T-11 & 3heh Y 10% @I TX A=ralT 1 TG 58 Pl 30 & T oo

T3 & Y TRU-1 3T T$U-11 & b T 36 (T (¥ H) TABT ?

Options:
1) 100, 100

2) 160, 70
3) 180, 60

4) 120, 90
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Correct Answer: 160, 70
Candidate Answer: 160, 70

QID : 39 - A Number is increased by 20%. To get back to the orignal number, the increased number is to be reduced by

T FGAT &Y 20% el AT ST ¥ | T FEAT W ATE 371 & T 9@ g8 F@1 ot fhcalr % o fovar S =nfew 2

Options:
1) 20%

2) 21%
3)
2
— %
16 3

4)
1
14— %
3
Correct Answer:
2
— %
16 3
Candidate Answer:

2
— %
16 3

QID : 40 - A Village lost 12% of its goats in a flood and 5% of remainder died from diseases. If the number left now is 8360. What was the orignal nhumber before
the flood?

el 9T 3 12% JHRAT a1g F T8 75 3R AT gHRIT & & 5% ThRar fret A @ F7 78| 319 I 9177 37 8360 IHNIT AW & Y IABT I1e A g T F FeIa:
=T g oY ?

Options:

1) 1000

2) 10000

3) 1,00,000

4) 8360

Correct Answer: 10000

Candidate Answer: 10000

QID : 41 - A scored 72% in a paper with a maximum marks of 900 and 80% in another paper with a maximum marks of 700. If the result is based on the combined
percentage of two papers, the combined percentage is

900 31feheTaT 3iehl F T A & Teh FAW™ 3 72% 3ieh Urad fohu 3R q@y fawar 3 31fisasr 700 3t F & 80% 37 urge fhu | afe afkomer ait fawat & afFnfera ufderdar
W 3RS & Y adreT FfFafaT giaudar sar g ?

Options:
1) 75.5%

2) 76%
3) 76.5%

4) 77%
Correct Answer: 75.5%
Candidate Answer: 75.5%

QID : 42 - An army lost 10% of its men in war, 10% of the remaining died due to disease and 10% of the rest were declared disabled. Thus the strength of the army
was reduced to 7,29,000 active men. The original strength of the army was

Tl Q=TT & 10% STt g H ARNe U, AT 10% STl FIH & &R F 3T 3R AT H & 10% T 31 BN & Form TT| 38 e A1 & by Starrat &y dean
7,29,000 T 75| TABT HA ¥T H FA1 # vl s/af & ?

Options:
1) 1500000

2) 1000000
3) 1200000

4) 1100000
Correct Answer: 1000000
Candidate Answer: 1000000
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QID : 43 - A bus travels 150 Km in 3 hours and then travel next 2 hours at 60 Km/hr. Then the average speed of the bus will be

IS a8 3 gue # 150 . Y. I Xt & 3R 30Ter 2 5o1e 60 5. F./9. H are § I Sl &) a9 $Hr Had 9 aan ?
Options:

1) 55 Km/hr

55 5.3/,

2) 54 Km/hr

54 5. 3./,

3) 50 Km/hr

50 fp.aft. /4.

4) 60 Km/hr

60 .. /9.

Correct Answer: 54 Km/hr
54 5. 3./,

Candidate Answer: 54 Km/hr
54 f5.3)./9.

QID : 44 - A man can cover a certain distance in 3 hours 36 minutes if he walks at the rate of 5 Km/hr. If he covers the same distance on cycle at the rate of 24
Km/hr, then the time taken by him in minutes is

1S aIfn AR 5 6.3l /€. & AR F T Y 98 T WA gY 3 GO 36 HAC F 7 a oIl &1 TG TE T€T g1 Arstenel WX 24 foh.afY. /8. & TAR § a7 Y A 38 feaa
fere ot ?

Options:
1) 40

2) 45
3) 50

4) 55
Correct Answer: 45
Candidate Answer: 45

QID : 45 - Due to inclement weather, an air plane reduced its speed by 300 Km/ hr, and reached the destination of 1200 km late by 2hrs. Then the schedule duration
of the flight was.

T HGa & HROT e garS STeTet o 370N TRAR 300 36,301, /6 e A &1 3R 1200 36.30. T 310 sidad WX 2 wer &8 @ Ug| adBU 36 33 & ugee 6 fAuifa
afy gar o ?

Options:

1) 1 hour

1ger

2) 1.5 hour

1.5 ger

3) 2 hour

29a

4) 2.5 hour

2.5 ger

Correct Answer: 2 hour
2 ger

Candidate Answer: 2 hour
2 ger

QID : 46 - Three runners A,B and C run a race, with runner A finishing 12 meters ahead of runner B and 18 meters ahead of runner C, while runner B finishes 8
meters ahead of runner C. Each runner travels the entire distance at a constant speed. The length of the race is

A, B3R C it arares foreY dis 3 Regar & €1 A aideaa HU1e 0¥ B & 12 #1eY 31791 2lar & 31 C ¥ 18 #1ex 3ma, Sfes B, C & 8 #1ex 3met A 1 it arerepy &y ¥ T8
# U & T el Bl SIS fohael aaed ® ?

Options:

1) 36 Metres

36 HIeX

2) 48 Metres

48 #Hrex

3) 60 Metres
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60 #HeX

4) 72 Metres

72 e

Correct Answer: 48 Metres
48 #Hrex

Candidate Answer: 72 Metres
72 Hex

QID : 47 - The compound interest on Rs. 4000 for 4 years at 10% per annum will be

4000 & &1 T W 10% aTiies T & { 4 T T Teheffig TATST HAT BT ?
Options:

1) Rs. 1856.40

1856.40 ®

2) Rs. 1600

1600 ®

3) Rs. 1856

1856 ®

4) Rs. 1756.60

1756.60 ®

Correct Answer: Rs. 1856.40
1856.40 &

Candidate Answer: Rs. 1856.40
1856.40 ®

QID : 48 - A sum of Rs. 4000 is lent out in two parts, one at 8% simple interest and the other at 10% simple interest. If the annual interest is Rs. 352. The sum lent

at 8% is

4000 & & T & AT 3 ot TX & A &1 T AT 8% AIIROT AT W 3R GET AT 10% HIUROT qATS WX | TG AT qATST 352 & & AT aa1sy fhat=ir Afr 8%

HIUROT AT TR ol & IS ?
Options:

1) Rs. 2900

2900 ®

2) Rs. 2200

2200 ®

3) Rs. 2400

2400 ®

4) Rs. 3100

3100 ®

Correct Answer: Rs. 2400
2400 ®

Candidate Answer: Rs. 2400
2400 &

QID : 49 - If the difference of the compound interest and the simple interest on a sum of money for 3 years is Rs. 186. Find the sum of money, if the rate of interest

in both case be 10%

I 3 a§ & forw fopell UMY oY =ehqfig agmer 3 AIUROT G27ST &7 3R 186 & & Al A= Y TR +M1d Y, T A gU b St HHET & TS T &7 10% &l

Options:
1) Rs. 5500
5500 €

2) Rs.7200
7200

3) Rs.6500
6500 ®

4) Rs.6000
6000 &

Correct Answer: Rs.6000
6000 ®

Candidate Answer: Rs.6000
6000 &

QID : 50 - A sum of money is invested at 20% compound interest (compounded annually). It would fetch Rs. 723 more if interest is compounded half-yearly. The sum

http://thepracticetest.in/csdecjan17/res d&éb\_’bj lﬁabﬂximélle(_) HG\AEAﬂ&é}ibi‘cJ:FI Jes0b2dvar0TI0sATTTd0eBseEe lert. In

13/26



1/24/2017 Download More PaperstaffsesationcommisionovtJobsAlert.In

is

PIS YRR fAAr & forw 20% Tehgfg a1er uR & AT & (qATST Y IT0TT arfties Hr Selt &) | I ey Y 70T SHARE T F H A€ Y 723 F 31w Fed § qane ag
YR HAT R ?

Options:

1) Rs.15,000

15,000 &

2) Rs.30,000

30,000 ®

3) Rs.20,000

20,000 &

4) Rs.7,500

7,500 ®

Correct Answer: Rs.30,000
30,000 ®

Candidate Answer: Rs.15,000
15,000 ¥

QID : 51 - The height of an equilateral triangle is 18 cm. Its area is

T FAHST FHI0T HT 5a1$ 18 F.3. {1 SHPT &%l HAT 219 2
Options:

1) 36V3 sq. m.

363 gat .

2) 108V3 sq. cm.

108v3 a9t .7

3) 108 sq. cm.

108 ot ..

4) 96V3 sq. m.

96v3 gt &,

Correct Answer: 1083 sq. cm.
108v3 a9t 3.7

Candidate Answer: 108V3 sq. cm.
108V3 et .30

QID : 52 - If the sum of radius and height of a solid cylinder is 20 cm and its total surface area is 880 cm? then its volume is

Ife el 31 derar iy o 3R Sar$ o1 Sis 20 B3 & 3R 3T T GuST el 880 F.3N.2 & At ST T HT B9 ?
Options:

1) 1760 cm3

1760 Q.13

2) 8800 cm?
8800 A.#.3

3) 2002 cm3
2002 @713

4) 4804 cm3
4804 9.3

Correct Answer: 2002 cm3
2002 @303

Candidate Answer: 2002 cm3
2002 @303

QID : 53 - A solid sphere and a solid hemisphere have the same total surface area. The ratio of their volumes is (Take, n=22/7)

Tt 31 aiter 31X B1E 37daiTeTeh T ol UAIT &TTthel Teh AT ¥| 3oTeh 3T ol IHJUTd Il ( F§ A gV 6, n=22/7)
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Options:
1)3V3:4

2)4:3V3
3)3:4V3

4)1:12v3
Correct Answer: 3V3: 4
Candidate Answer: 33 : 4

QID : 54 - The sides of a triangle are in the ratio 1/2 : 1/3 : 1/4 and its perimeter is 104 cm. The length of the longest side (in cm) is

T e[St T oM 1/2 @ 1/3 1 1/4 & U # & 3R 39 aRTT 104 9.5, ¥ TI8 = 7 &1 s (F.47. F) ga%0 ?
Options:

1) 52

2) 48

3)32

4) 26
Correct Answer: 48
Candidate Answer: 48

QID : 55 - The four walls and ceiling of a room of length 25 m, breadth 12 m and height 10 m are to be painted. Painter A can paint 200 m2 in 5 days, Painter B can
paint 250 m2 in 2 days. If A and B work together, they will finish the job in

T 25 L THY, 12 3. D 3R 10 7. 5T FAY Hr od 3R ARt F O RFaT ST ¥ 0R A 200 F2 5 R 3 Ieqe A ThdT ¥, TR B 250 #2 2 o 3 de W
e T AT A 3R B 17 & e o a 3 TocTet e & et or &t ofat 2
Options:
1) 6 days
6 fee
2)

10
33

10
ﬁﬁﬁ?

days

3)
7 % days
710 e
4) 8 days

8 fea

Correct Answer:
10
6 33 days
10
6 33 fad
Candidate Answer:

10
)

10
ﬁﬁﬁ‘—{

days

QID : 56 - The base of a right prism is a trapezium whose the length of parallel sides are 25 cm and 11 cm and the perpendicular distance between the parallell
sides in 16 cm. If the height of the prism is 10 cm, then the volume of the prism is

T & Rsted o ao aaerd (NS ¥ fFadr aaar gt & oS 25 3. 3R 11 3.8 § 3R gafaR gensit & S d@a 16 J.. &)1 3l Rered & S 10
{30, & A Rsed o 3Ia= 9amsu ?

Options:

1) 1440 cu.cm

1440 g1 ¥,

2) 1540 cu.cm

1540 g1 &1,

3) 2880 cu.cm

2880 T 4. Y.
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4) 960 cu.cm
960 &= T.3T.
Correct Answer: 2880 cu.cm
2880 &7 ..
Candidate Answer: 2880 cu.cm
2880 T 4.

QID : 57 - The external and the internal radii of a hollow right circular cylinder of height 15 cm are 6.75 cm and 5.25 cm respectively. If it is melted to form a solid
cylinder of height half of the orignal cylinder, then the radius of the solid cylinder is

15 3.0, 33 v W T e Jo7aT Y I 3R 3ATRD @ sheren: 6.75 . 3R 5.25 @3, ¥ I 30 Reer & FqoT Joa A ST H 31 Fums & e A
B Jeld IAIT ST AT 31 sTefe i P fordei gief ?
Options:

1)6cm

6 9.3,

2)6.5cm

6.5 ..

3)7cm

7 3.3

4)7.25cm

7.25 4.7

Correct Answer: 6 cm

6 9.3,

Candidate Answer: 6 cm
6 T.3m.

QID : 58 - The length and breadth of a rectangular piece of a land are in a ratio 5:3. The owner spent Rs. 6000 for surrounding it from all sides at Rs.7.50 per
metre. The difference between its length and breadth is

HfH & UF HIAHR gohs B aHaTS IR st 5:3 F FFUId H &1 3HS AT o 38 TR aF H B & v 7.50 € 7 HIex HT & & 6000 & @ v | 368H aHams

3R iR & IR IaBT ?
Options:

1) 50 metres

50 #HeX

2) 100 metres

100 #Hrex

3) 150 metres

150 #Hrex

4) 250 metres

250 #Hrex

Correct Answer: 100 metres
100 #Hrex

Candidate Answer: 100 metres
100 #Hrex

QID : 59 - The ratio between the area of a square and that of a circle, when the length of a side of the square is equal to that of the diameter of the circle, is (take
n=22/7)

e aat & arather 3R I & S P IHIUIT IATST, ST T3T Y Teh Poim B THATS g & TAH & T & ( Tg A U b 1=22/7)

Options:
1)14: 11

2)28: 11
3)7:22

4)22:7
Correct Answer: 14 : 11
Candidate Answer: 14 : 11

QID : 60 - A piece of wire 132 cm long is bent successively in the shape of an equilateral triangle, a square and a circle. Then area will be longest in shape of

132 9.3, THY T AR & s &l Teh FHATG FFBI0T, Teh q97 3R Teh o & TR F HNST AT ¥ TATST BlA-J 3R # &0l Had 317 gl ?

Options:
1) Circle
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q
2) Equilateral triangle

GaHaTg FpIoT

3) Square

Ty

4) Equal in all the shapes
FHY THRT # T FAT
Correct Answer: Circle
q

Candidate Answer: Circle

ki

QID : 61 - If a cone is divided into two parts by drawing a plane through the midpoints of its axis, then the ratio of the volume of the 2 parts of the cone is

I, el igy T 38 36T & AU Reg A el FaAde e U ar HIT 3 Fasrehel T ST & @Y i & 1 71911 & 3T T Tl BT 2T ?

Options:
1)1:2

2)1:4
3)1:7

4)1:8
Correct Answer: 1: 7
Candidate Answer: 1 : 8

QID : 62 - Two regular polygons are such that the ratio between their number of sides is 1:2 and the ratio of measures of their interior angles is 3:4. Then the
number of sides of each polygon are

& TH TgIST TN ¥ T STht o3l B AEAT o i 1:2 o7 Je]UTel & 3R 3eTeh I PIUil b AT T I 3:4 ¥| Uedeh TgIT Y YT & TEAT IABT ?

Options:
1) 10, 20

2)4,8
3)3,6

4)5,10
Correct Answer: 5, 10
Candidate Answer: 10, 20

QID : 63 - In an isosceles triangle, the length of each equal side is twice the length of the third side. The ratio of areas of the isosceles triangle and an equilateral
triangle with same perimeter is

Teh HTETE YT 3 Geldeh SRR arell 37T, TG ool & goreh | Fafearg Foget 3R @avarg Bt TSireh TR Ueh GHT &, & &thell T 3FIUT TATST ?
Options:

1) 30v5: 100

2) 32v/5: 100

3) 36V5: 100

4) 42v/5 : 100

Correct Answer: 36V5 : 100
Candidate Answer: [ NOT ANSWERED ]

QID : 64 - A right circular cylinder is partially filled with water. Two iron spherical balls are completely immersed in the water so that the height of the water in the
cylinder rises by 4 cm. If the radius of one ball is half of the other and the diameter of the cylinder is 18 cm, then the radii of the spherical balls are

Teh AT R el 37D T F U F 9737 | AN &Y & IMeleh died G a6 & U1 F gt g8 € i@ dorey & urehy oy Svens 4 @20, 9 Sl 1 I v aiteres afer &
ot gudt &1 3t e 3R ot 1 g 18 1., g T aiterent Pt e adET ?

Options:

1) 6 cm and 12 cm

6 3.3 3k 12 3.4

2) 4 cm and 8 cm

433 3k g ..

3)3cmand 6 cm

3q.. 3t e @
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4) 2 cm and 4 cm

23 34 9.9

Correct Answer: 3 cm and 6 cm
3990 3R 6 &

Candidate Answer: [ NOT ANSWERED ]

QID : 65 - The whole surface area of a pyramid whose base is a regular polygon is 340 cm? and area of its base is 100 cm?2. Area of each lateral face is 30 cm?.

Then the number of lateral faces is

e Rifrs e ad a3 agaet &, T HelqoT quOR aThal 340 §.371.2 ¥ 3R 36& et & arahel 100 3.31.2 ¥| U@ UREd horeh ot st 30 §.37.2 ¥, A ued

WHelchl T HEAT TATST ?
Options:

1)8

2)9

3)7

4) 10
Correct Answer: 8
Candidate Answer: 8

QID : 66 - If P = 99, then the value of P(P2 +3P+3)is

IfE P = 99, AT P(P? + 3P + 3) &I A ad1ST ?
Options:

1) 9999

2) 999999

3) 99999

4) 9999999
Correct Answer: 999999
Candidate Answer: 999999

QID: 67 -

if x+ % =c +% then the value of x

gfe x+%=c+%ﬂ’lxaﬂﬂﬂﬁﬁl@:{

Options:

1)C, 1/C

2)C, C?

3)C, 2C

4)0,1

Correct Answer: C, 1/C
Candidate Answer: C, 1/C

QID : 68 - If the sum of squares of two real numbers is 41 and their sum is 9. Then the sum of cubes of these two numbers is

o A HATIE FEATHT & Gait 1 S5 41 & 3R 37T 30T S5 9 ¥, AT 37 & HEATIT & GAT T SIS HAT B9 ?

Options:
1) 169

2) 209
3) 189

4) 198
Correct Answer: 189
Candidate Answer: 189

QID : 69 - A complete factorisation of x* + 64 is

x* + 64 T AT UTEIET P
Options:
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1) (2 +8)?

2) (2 +8)(x? - 8)
3) (x? - 4x +8)(x% -4x - 8)

4) (x% +4x + 8)(x% - 4x +8)
Correct Answer: (X% + 4x + 8)(x% - 4x +8)
Candidate Answer: (x2 +4x + 8)(x2 - 4x + 8)

QID:70-Ifa +b =1, then a* + b* - a3 - b3-2a2b%+ ab is equal to

Fira+b=1% ara* +b*- a3 - b3 - 2a2b? + ab frEH axET BT ?

Options:
1)1

2)2

3)4

4)0

Correct Answer: 0

Candidate Answer: 0

QID: 71-IFx2 +y2 +6x+5 = 4(x - y) then x - y is

R X2 +y2 +6x +5 = 4(x - y) &, Y X - y BAT @I ?

Options:
1)1

2)-1
3)0

4)4
Correct Answer: 1
Candidate Answer: 1

QID: 72 -Ifa = 299, b = 298, ¢ = 297 then the value of 2a3 + 2b3 + 2¢3 - 6abc is

IfEa =299, b =298, c = 297 &, &Y 2a3 + 2b3 + 2¢3 - 6abc HT AT TdTT ?

Options:
1) 5154

2) 5267
3) 5364

4) 5456

Correct Answer: 5364
Candidate Answer: 5364

QD:73-
If x + 1=v3the value of x**+x**+x° +1is
X

gig x+ L=v3 B, A1 x®+xP+x"+ 1 BT HH G ?
X

Options:

1)0

2)1

3)2

4)3
Correct Answer: 0
Candidate Answer: 0

QID: 74 - If x = 1 + V2 + V3, then the value of 2x* - 8x3 - 5x2 + 26x - 28 is
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IR x=1+v2+ V3@, ar2x* - 8x3 - 5x2 + 26x - 28 &I A IATST ?

Options:
1) 2v2

2)3v3
3) 5v5

4) 6v6
Correct Answer: 6V6
Candidate Answer: [ NOT ANSWERED ]

QID: 75 -
If 2r=h+"~/ i+ h? then the ratio r:h (r=0) is

g 2r = h+~\/ r2+ ht i 3F9E r:h(r=0) F g

Options:
1)1:2

2)2:3
3)4:3

4)3:5
Correct Answer: 4: 3
Candidate Answer: 4 : 3

QID : 76 - In an equilateral triangle ABC, G is the centroid. Each side of the triangle is 6 cm. The length of AG is

Tfg THST YT ABC 7 G Felge & 3R Pyt Y uqA 3 6 A3l i at AG & oS aar aehr 2
Options:

1) 2v2 cm

2V2 .7

2) 3v2cm

3v2 .7

3) 2vV3cm

2V3 .37

4) 3v3 cm

3v3 g4

Correct Answer: 2V3 cm
2V3 .7

Candidate Answer: 2V3 cm
2V3a.a.

QID : 77 - PQ is a tangent to the circle at T. If TR = TS where R and S are points on the circle and £RST = 65°, the £PTS =

PQ RrelY gt & T farerg ux |quelf §1 If TR = TS 31 R 31 S ga7 W Reig & qur £RST = 65°, @Y £PTS =?
Options:

1) 65°

2) 130°

3) 115°

4) 55°
Correct Answer: 115°
Candidate Answer: 115°
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QID : 78 - In AABC, AC = BC and £ABC = 50°, the side BC is produced to D so that BC = CD then the value of 2BAD is

AABC #, AC = BC 31X 2ABC = 50°, 33T BC, D A% 38 U&R IgTs ST & i BC = CD, AT 2BAD &I AT IdBT ?

Options:
1) 80°

2) 40°
3) 90°

4) 50°
Correct Answer: 90°
Candidate Answer: 80°

QID : 79 - In a circle, a diameter AB and a chord PQ (which is not a diameter) intersect each other at X perpendicularly. If AX : BX = 3 : 2 and the radius of the circle
is 5 cm, then the length of chord PQ is

Th el H, Teh GIH AB 3R Teh Sfam PQ (S G 16 §) Teh-GaEY bl X Riefg IR oTaf@aa’: e §1 31 AX @ BX = 3 : 2 8 3R ga &1 B 5 9.3, @ at shar PQ &t
AHATS TATST ?

Options:
1) 2v13 cm

2vV13 g4

2) 5v3cm

5v3 &

3) 4V/6 cm

4v6 ¥4,

4) 6v5cm

6v5 a.4n.

Correct Answer: 46 cm
46 v.7 .

Candidate Answer: 4v6 cm
46 v.#.

QID : 80 - ABC is a triangle, PQ is line segment intersecting ABin P and AC in Q and PQ II BC. The ratio of AP : BP = 3 : 5 and length of PQ is 18 cm. The length of
BCis

ABC was 39T &, PQ Uah Y@ @3 ¥ it AB &Y P UR 3R AC Y Q UR et & 3R PQ I1 BC &1 AP : BP &7 31U 3 : 5 ¥ 31X PQ &Y sTHars 18 &7, ¥ | BC & aI#amS aamsy
?

Options:

1) 28 cm

28 §.4.

2) 48 cm

48 &Y.

3) 84 cm

84 &

4) 42 cm

42 3.,

Correct Answer: 48 cm
48 &Y.

Candidate Answer: 48 cm
48 9.7

QID : 81 - If the parallel sides of a trapezium are 8 cm and 4 cm, M and N are the mid points of the diagonals of the trapezium, then length of MN is

Ife forelt warersra (ShforeT) & FaeaeR o 8 .37, 31T 4 9.3f. & 3k M g N Edhiforer & faepott & sraz Reg & @t MN &t Faars aarse ?
Options:

1) 12cm

12 3.4

2)6cm

6 9.3,
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3)1cm
134
4)2 cm
233,

Correct Answer: 2 cm
23

Candidate Answer: [ NOT ANSWERED ]

QID : 82 - AABC is isosceles having AB = AC and 2A = 40°. Bisectors PO and OQ of the exterior angles 2ABD and 2ACE formed by producing BC on both sides, meet

at O. Then the value of 2BOC is

MABC T T fgaTg Feget & foraaf AB = AC 31 £A = 40° | @l &ioT 2ABD 3R 2ACE St BC @t 2t fl o) arerer & @t €, & faaqrsien PO 3R 0Q ¥ 3 & 0 Reg X

et €1 £BOC & A IdBT ?

Options:
1) 70°

2) 110°
3) 80°

4) 55°
Correct Answer: 70°
Candidate Answer: 110°

QID : 83 - An equilateral triangle of side 6 cm is inscribed in a circle. Then radius of the circle is

T FHATG FApror e 931 6 8.3, ¥, T g & icAad ¥ g i Bsrar aam ?
Options:

1) 2v3 cm

2v3 @

2) 3v2cm

3v2 .

3) 4V3 cm

4v3 a.an.

4) V3 cm

V3 ..

Correct Answer: 23 cm
2V3 a5

Candidate Answer: 3V2 cm
3v2 3.3

QID : 84 - In a circle with centre O, AB is a diameter and CD is a chord which is equal to the radius OC. AC and BD are extended in such a way that they intersect

each other at a point P, exterior to the circle. The measure of 2APB is

TRl gt &7 el O ¥, AB T & 31X CD =maepof § Siifdh OC Fis7am & a1 AC 31X BD &Y 38 TR TarT ST & o & Tah-g@s @t fdeig P 0X et § Sifer gt & amrex
&1 LAPB T AT T @XM ?

Options:
1) 30°
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2) 45°

3) 60°

4) 90°
Correct Answer: 60°
Candidate Answer: [ NOT ANSWERED ]

QID : 85 - Two chords AB and CD of a circle with centre O intersect at P. If ZAPC = 40°. Then the value of 2AOC + 2BOD is

Tl g7 &1 & Shard AB 31 CD , fSrarehT dhefgieh O ¥, TRHUT P feTg W shreeht €1 g 2APC = 40° &, @ £AOC + £BOD T HI TTST ?
Options:

1) 50°

2) 60°

3) 80°

4) 120°
Correct Answer: 80°
Candidate Answer: 120°

QID : 86 - If x tan 60° + cos 45° = sec 45° then the value of X2 +1is

IfE x tan 60° + cos 45° = sec 45° &, A X2 + 1 BT A &

Options:
1) 6/7

2) 7/6
3) 5/6

4) 6/5
Correct Answer: 7/6
Candidate Answer: 7/6

QID : 87 - x, y be two acute angles, x +y < 90° and sin(2x - 20°) = cos(2y + 20°), the value of tan(x +y) is

X, Y & T PIUT &, X +y < 90° 3R sin(2x - 20°) = cos(2y + 20°), AT tan(x +y) & AT TABY ?
Options:

1) V3

2)1/V3

3)1

4) 2+/2
Correct Answer: 1
Candidate Answer: 1

QID : 88 - If asec?x - b2tan?x = c? then the value of sec?x + tanx is equal to (assume b? # a2)

T aZsec? - b?tan?x = ¢ ¥, @ sec?x + tan®x &1 A TATST (IT AT g b? * a2)

Options:
1)

b?—a? + 2¢?
b+ a?

2)

b?+a?_2c?

b?— a?

3)

http://thepracticetest.in/csdecjan17/res d&é‘e\_’bj lﬁabihifnélpM@ Ht]\/l}z)Atl&é}ibidﬁ JBB0BRATH 107051 TTTI2d0eBegse et I n 23/26



112412017 Download More PaperstaifsesdiovcommisionovtJobsAlert.In

b _ at_2c?
b+ at

4)
bt at
b* + a*+ 2¢?
Correct Answer:
b?+at_2c?
b?— a?
Candidate Answer: [ NOT ANSWERED ]

QID : 89 - (1 +sec 20° + cot 70°)(1 - cosec 20° + tan70°) is equal to

(1 +sec 20° + cot 70°)(1 - cosec 20° + tan70°) fFad SRR Bm ?

Options:
1)0

2)1
3)2

4)3
Correct Answer: 2
Candidate Answer: 0

QID : 90 - If tan*6 + tan?6 = 1 then the value of cos*6 + cos26 is

I tan?0 + tan?6 = 1 &, A cos*8 + cos20 T AT HAT QT ?

Options:
1)2

2)0
3)1

4)-1
Correct Answer: 1
Candidate Answer: 1

QID : 91 - The value of 8(sin®0 + cos®6) - 12(sin6 + cos*8) is equal to

8(sin® + cos®8) - 12(sin*6 + cos*8) T AT T B9 ?

Options:
1) 20

2)-20
3)-4
4)4

Correct Answer: -4
Candidate Answer: -4

QID : 92 - An aeroplane flying horizontally at a height of 3 Km. above the ground is observed at a certain point on earth to subtend an angle of 60°. After 15 sec
flight, its angle of elevation is changed to 30°. The speed of the aeroplane (taking V3 = 1.732) is

IS AR g A Fag ¥ 3 .. I AT 33 @1 %1 gud @ e g @ 7 d@e & 31ar ¥ 7 a7 60° & HIoT 0T BEAR 21T §1 15 YHU dTe SHPT SeAcAdel

o7 30° aRafela &1 AT §1 a6 a1 ddsU| (e A g V3 = 1.732)

Options:

1) 230.63 m/sec
230.63 #1./4.

2) 230.93 m/sec
230.93 #1./4.

3) 235.85 m/sec
235.85 #./4.

4) 236.25 m/sec
236.25 #Y./4.
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Correct Answer: 230.93 m/sec
230.93 #1./4.

Candidate Answer: 230.93 m/sec
230.93 #1./4.

QID : 93 - If the angle of elevation of the sun decreases from 45° to 30°, then the length of the shadow of a pillar increases by 60m. The height of the pillar is

g YT T 3ATT PI0T 45° F "t 30° & AT & a7 Th @HY & ST 60 Y. I S & | WA Hr 518 52 & ?
Options:

1) 60(V3+1) m

2) 30(v3-1) m

3) 30(V3+1) m

4) 60(V3-1) m
Correct Answer: 30(V3+1) m
Candidate Answer: [ NOT ANSWERED ]

QID : 94 - The angle of elevation of the top of a tower, vertically erected in the middle of a paddy field, from two points on a horizontal line through the foot of the
tower are given to be a and B (a>B). The height of the tower is h unit. A possible distance (in the same unit) between the points is

el e1er & W & el i ZYareR @ A 978 Teh AR b M b1 s BioT, AAR S T F P aifdreT 1T w & Reagsii @ a 3R B ¥ (0>p) AR & Far h gfae
%Iﬁﬂgﬁﬂ?&ﬁam{mﬁaeﬁr(ﬁﬁqﬁtﬁ)%;
Options:
1)
h (CotB — Cotat)
Cos (a+B)
2) h(cota - cotf)
3)
h ftanB — tanct)
tanc tanp
4) h(cota+cotB)

Correct Answer: h(cota+cotp)
Candidate Answer: [ NOT ANSWERED ]

QID : 95 - The angle of elevation of the top of an unfinished pillar at a point 150 metres from its base is 30°. The height (in metres) that the pillar must be raised so
that its angle of elevation at the same point may be 45°, is (takeing V3 = 1.732)

Tl 3T @AY & MG 7 8% ITUR F 150 A H gl F ST P01 30° ¥ 30 THY Y e fhctelt aer Selt =nfew arfer s€t fieg & 38T 373 HIoT 45° & AT
(T€ #A gT & V3 = 1.732)

Options:
1) 63.4

2) 86.6
3) 126.8
4)173.2

Correct Answer: 63.4
Candidate Answer: 173.2

QID: 96 -
What is the difference between the total sale of English newspapers and the total sale of Hindi newspapers in all the localities together.

G SR F Pt FHAT T 3NN & FATR T 3R RAE F FATRR-THAT Y ot FHhr 3 a7 3T § ?

Options:
1) 7500

2) 5600
3) 6500

4) 5700
Correct Answer: 6500
Candidate Answer: 7500
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QID : 97 -

What is the average of difference of sales of Hindi and English newspapers in all localities ?

AR FeTh! A oAt 3R 33l & FATER-UAT & f5hr & 37X &1 Jraa Far e ?

Options:
1) 2000

2) 2300
3) 2100

4) 2200
Correct Answer: 2300
Candidate Answer: [ NOT ANSWERED ]

QID: 98 -
What is the approximate sum of the ratios of sales of English and Hindi newspapers in all localities ?

AR FeATh! A 3ol 3R AT F FATIR Tl & FISHT & HFUTAT T ool AT FAITHIT BT & ?

Options:
1) 4.5

2)5.75
3)6.36

4)7.82
Correct Answer: 6.36
Candidate Answer: [ NOT ANSWERED ]

QID: 99 -
What is the ratio of average number of English newspapers from the localities B, C and E to the average number of Hindi newspapers from the localities A and D ?

SaTeR B, C 3R E & 31950 FATER U= & 3irad F@1 &1, S A 3R D & eier FAmER T3 &1 3iad §E11 8 H31 Hua & ?

Options:
1)10:9

2)9:10
3)11:9

4)9:11
Correct Answer: 10: 9

Candidate Answer: [ NOT ANSWERED ]

QID : 100 -

What is the ratio of the average number of sale of English newspapers in localities B and D together to the average sale of Hindi newspapers in all the localities ?

FolTehT B 31 D 3 Teh |1 fAAT & 31l TATIR wHl &Y fshr & 3t daar o @ofy sarrept 3 e o Ready gamm usl i 3t ff @ o sequra & 2

Options:
1)34:43

2)40: 33
3)33: 40

4)43:33
Correct Answer: 40 : 33
Candidate Answer: [ NOT ANSWERED ]
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